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March Overhead NC 7.5
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Put It on the Line, Game 1
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What is the value of Tanner was in a walk- | Shandra ate - of her 8
the 4 in 75.477 a-thon at his school sandwich for snack 0

When he saw his mom |and - for lunch. How
after school he, said, “I | much does she still
walked 2.3 miles. If I'd | have left?

walked just ___ mile
If the large square is | more, | would have

1, what is the value of |walked 3.0 miles in all.”
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March Calendar Collector Record Sheet March Overhead NC 710

March Overhead NC 7.1

Date Time of Time of Daylight (Hours & | Darkness (Hours
Sunrise Sunset Minutes) & Minutes) Day|ight & Darkness Graph The First Number Riddle
1 650 AN | 5:56PM | fThr. 6min. |12 he. 54 min.
CALENDAR COLLECTOR
YA 6:48 AN 5:57PW | Thr. 9 min. | 1Zhr. 51min. Hous of Dyl & Dakness n March Mrs. Fisher said to her fifth graders, *I have a cat named Louis. He is quite old for
13 hr. 20 min a cat. Here are 3 clues that will help you guess his age.”
31 646 AN | 5:59PW | Mhe. 13 min. |1Zhe 47 min) 13 min a His age is a factor of 43
- 13hr. 5 min b His age is a multiple of 4 but not a multiple of 3.
X . i 3hr.0
L‘ 644 AN\ 600 PN\ ” lﬁ\’ﬂ 16 min. 12 l’]r' 4 min, 2hr r55 2:: C His age is greater than 8 but less than 24.
12 hr. 50 min. :
. . v old is Louis
5 647 AN\ 6:01 PN\ Mhe. 19 min. | 12 he. 41 min. 12 hr. 45 min How old is Louis?
12 hr. 40 min B Using the Clues
R X . . 12 hr. 35 min. A factor of a whole number is a whole number that divides evenly into that
6 641 AN 603 PN {1 hr. 2Zmin. 12 br. 38 min. 12 hr. 30 min number. What are the factors of 487 Think of all the pairs of whole numbers
12r.25 min you can multiply to get 48. One example is 1 x 48. Another is 2 x 24. You can
7 639 AN | GOHPM [hr. 25 min.| 12 hr. 35 min| phr20mn say that 1, 2, 24, and 48 are all factors of 48. List the rest of the factors of 48
12 br. 10 min.
§ | 637 | 6O5PN [Mhr. 28 min.| 12 hr. 32 min. 205 min
12 hr. 0 min.
11hr. 55 min
ﬂ :’ ig min A multiple of a whole number is a product of that number and another whole
o 0 o number. When you skip-count, you are naming the multiples of a number. For
hr. 35 min. example, 5, 10, 15, and 20 are all multiples of 5. List the first 6 multiples of 4,
11hr. 30 min starting with 4:
11hr. 25 min d
11 hr. 20 min.
11hr. 15 min
11hr. 10 min &
1hr. 5 min
T1hr. O min * Now use clue ¢ above and you'll know exactly how old Mrs. Fisher's cat is!
10 hr. 55 min.
10 hr. 50 min.
10 hr. 45 min.
10 hr. 40 min.
10 hr. 35 min.
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